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e w@EER g fogef #@
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SR hl ISR Shidl © |

(A) TCP (B) HTTP

(C) 1P (D) FIP

Spring Boot Actuator exposes operational
information about running application using

endpoints.
(A) TCP (B) HTTP
< 1P (D) FTP
Tees C @I

(A) CERAA C H THh Hode
(B) SO C I Teh TSR
(C) ERITT C b TH R
(D) <ERMA C o 99M §
Embedded C s :

(A) A subset of traditional C
B) An extension of traditional C

(
©)
(D)

A superset of traditional C

Same as traditional C

TS festgd S, w9 @ feasd geam
3TR TiTeerR ST T fa=aR & § 2

(A) TAR fesmed

(B) WITeRR / BrEa fesmme

(C) wiewH sty fesmea

(D) TiRa fesmed

During embedded design, which design
considers both hardware and software ?

(A) Memory Design

(B) Software / hardware Design
(C) Platform-based Design

(D) Peripheral Design

HC-05 T& w2 Aiegd § S fohd e # ¥R
T HHA T ?

(A) feucred (B) SUH
(C) Poa-Sucld (D) T H HIE T

HC-05 is a Bluetooth module that can
communicate in which mode ?

(A) Simplex (B) Duplex

(C) Full-Duplex (D) None of these

TG ki gYTERiaal Fafafed 8§ 9 fag e
T TR et & 2

(A) Teuar
(C) Hageftetal (D) ST |+

(B) faUrgehd

Sensor effectiveness depends on which of the
following parameters ?

(A) Radiation (B) Resistivity

(C) Sensitivity (D) Allof the above

WS W Sl Whd &l AIATS hid o TaQ 7

Y 9 fomgert Iuam o <iar & 2

(A) avrgcc (B) gt+
(C) cpython (D) avrdude

Which of the following is used to upload the
Arduino Sketches to the board ?

(A) avrgce (B) gt+

(©) cpython (D) avrdude
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ITANTHRAl 1 fafafy T TR W & fau
frafafea § 9 fme gfsran a1 so= foRan ST
7?2

(A)  siiifehem
(B) smfam

(C)  sTeESTr
(D) FehRTfeT

Which of the following process is used to keep
track of user’s activity ?

A) Authentication

B

~

Authoring

C) Authorization

(
(
(
(

D) Accounting

TRy T a1 fafis Syl | 39e 3iR 38
g fraedi # afafia +6 Foe Jed 9

Tae orzm Tferfes
(B) ST heloRMH
(C) feamsd eRRM

(D)

T 2159 helaR™

These applications take data or input from
various devices and convert it into viable
actions or clear patterns for human analysis

A) Real Time Analytics
B) Data Collection
C) Device Integration

D) Real Time Collection

10.

11.

ToT AWM H T THUH :
(A) f= (B) eIl HIeH

(C) Srdt Hred (D) 3|t

The actuators used in IoT applications are :

(A) Relay (B) Servo Motors

(C) DC Motors (D) All of these

ToT 3Ushton H siifask gfan & 21 =R & &

fou fr= § 9 forgen s foran <iman € 2

(C) TEshl IrEEd
(D) TIghIhIeTE

Which of the following is used to capture data
from the physical world in IoT devices ?

A) Sensors

B Actuators

~—"

C) Microprocessors

(
(
(
(D) Microcontrollers

TS | wod atfren wfsa T S 2
(A) wveg (B)
(C) fafram

BsRal
LT T

Which one is the most discussed challenge in
IoT ?

(D)

(A) Standard (B) Security

(€) Regulation (D) Internet
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12.

13.

IoT g et IS gd %4 ¢ a8

S|

(A) WAN

(B) LAN

(C) Fox

(D) S-S AATTE HeTeh

The IoT networks that has a very short range
is :

(A) WAN
(B) LAN
(C) Fox

(D) Short-range Wireless Network

IoT &1 Y@ ek &/ |
(A) Had

(B) THTH

(©) o i

(D) ST |l

Major Component of IoT is/are
(A) Sensors

(B) Actuators

(C) Smart Applications

14.

15.

[oT 2ok ¥, iR At (THLHT) @ :
(4) T

(B) TR e v

(©) W=R

(D) A

In the IoT network, Secure Shell (SSH) is :
(A) Gateway

B) Secure network protocol

Router

Firewall

TR T ITANT T h TR
A) &2 FHE w1 B wETH fawifaa wem
B) IS I: TS

C) Sifeetdl sl YoieH

D) ITH 9 94t

advantages of using functions is

(A) Partition larger task into smaller tasks
(B) Code reusability

(C) Manage complexity

(D)

D) All of these
T hT T&R HET BT =18y 2

(A) S (B) =
(C) ir=n (D) E¥d

How should the tone of a speaker be like ?

(A) Loud (B) Clear
(D) All of the Above (C) Low (D) Soft
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17.

18.

19.

T fafyre && #1 F0 & fag
RIS 3T TR 1 Teh HAISH § |

(A) ToT faEen
(B) TUmice fawm
(C) fiue fawn
(D) wFISe TaeeH

is a combination of hardware

(A) IoT System
B) Embedded System

(

(C) Grid System

(D) Cloud System

TS T T3 1 39T T ST T § 2
A) faw= (B) WM W
(C) Tl (D) AfHaTH

What indicates to the reader the purpose of
a letter ?

(A) Subject (B)
(C) Address (D)

Body

Salutation

FH G THER FAfeT e Farpawe HH o
TR T & ?

(A) TG (B)
(C) HIEshT heleR (D)

Which processor helps in carrying out
floating point calculations ?

EQIIESESTS
E TG

~

(A) microprocessor (B) coprocessor

(C) microcontroller (D) controller

20.

21.

O & AN H oY IR IS R w2
A) deEREe

B) ot fferenmd

C) arfte e

D) A el

How to research and enquire about the
company ?

(A) Website

(
(
(
(

B) Company Directories
Annual Report
All of these

S o o [N

freafafad sTgeHl shie w1 ST8eYe &1 B ?

void main() {

intk=0;

double d = 10.21;

printf(“ %lu”, sizeof(k + d));

}

void loop() {}

(A) 10.21 (B) 8
(©) null (D) 23

What will be the output of the following
Arduino code ?

void main() {

intk =0;

double d = 10.21;
printf(“%lu”, sizeof(k + d));

}

void loop() {}

(A) 10.21 (B) 8
(©) null (D) 23
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22. ST ITRIN & o H FrAfafied § G S @ | 24. 60 THR &1 I <! T Al H @A @ 2
TTerd 8 2
(A) engw (B) rEfesy
(A) A THA FH IR WEN FE & o Teme '
1 SYA HAT § (©) e (D) TR
. What type of speaker looks into the eyes of
(B) ST 1 et & the audience ?
(C) SIToTTE Thefieh T JAT HdM (A) Confident (B) Impatient
(D) T e e § C) Rude D) Impolite
P
Which of the following is false about IoT
devices ? ) )
25. LDR ¥ % fogid W &M F |
(A) Use internet for collecting and sharing
data (A) wfsRar
(B) Need microcontrollers (B) wrEmrefRRE
(C) Use wireless technology
(C) YdEsh™
(D) Are completely safe
(D) (&) ¥R (C) <A
23. oM # AT H G B R AR ok LDR sensor works on the principle of :
WHEIAT o A1 B i STEAT B T Fed § ? (A) Resistivity
(A)  &AMEE (B) Photoconductivity
(B) McH-IHMH (C) COHdUCtiVity
(C) SACH-FITaHIT (D) Both (A) and (C)
(D) E=STehicud fa=m
What is the feeling of competence to cope 2. ¥4 T T
with life’s challenges and of being worthy of L
happiness called ? (A) (B) s
(A) Arrogance (C) FRR (D) W&
B) Self-esteem is heart of Computer system.
(B) puter sy
(C) Self-efficacy (A) Memory (B) 1/0
(D) Wishful thinking (C) Counter (D) Processor
Page 6/12 SPACE FOR ROUGH WORK M4-R5/01-23



27.

28.

SYSHN o SIS S WIHTET &t STafd 3T B

fire T

allow data processing close to

device.

Edge Computing
Cloud Computing
Fog Computing

Grid Computing

TCP 1 319 © ?

S s Hiarehial
e v T

SHER Sheldl YTl

ST U8 SRR Hieehid

TCP stands for :

29.

~ o

FAfAfEd i 1 T3y 1 BT 2

#include <stdio.h>
void solve() {

intb =4;

int res = b++ + ++b + ++b;

printf("%d", res);
}

int main() {
solve();

return 0;

}

(A) 12

C) 17

(B)

(D)

15

20

What will be the output of the following

code ?
#include <stdio.h>
void solve() {

intb =4;

int res = b++ + ++b + ++b;

printf("%d", res);
}

int main() {

(A) Transmission Control Protocol solve();
(B) Telecommunication Control Protocol return 0;
(C) Temperature Control Protocol )
. - (A) 12 (B) 15
(D) Transmission and Communication
Protocol <o 17 (D) 20
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30.

31.

32.

frefafed & & o T qure WK i i § 2
(4) =
(B) ¥IEeH
(C) HifHd s IR FHq@ aei

(D) WAHeH

Which of the following is the key to an
effective presentation ?

(A) Image

(B) Styles

(C) Limited words and key phrases
(D) Layouts

39 ToT 3TfcheaeR | TelHed i §e fohat
= 8 2

(4) (B)
©) == (D)

What is the number of elements in open IoT
architecture ?

(A) Four (B)
(©) Six (D)

o
rd

Five

Seven

frefafad § ¥ FF TR 1 & a0 hRH § 2
A) HIR, F=R A &I R we
B) HRA % & H HE

C) uHI-faeie YgH HH
D) 49

Which of the following is the basic functions
of a timer ?

(
(
(
(

(A) Control the compare, capture mode
(B) Act as a counter
(C

(D

Provide a time delay

)
) All of these

33.

34.

RAM [ UM # ITAM & fau ff9 g &
IR TsIed wh1 SRR TET ST & ST 9o feares
& AR q: sTdfed el fhan s € 2

(A) sTferHfen (B) wfew

(G RSIREIEED (D) T & usft

Which type of variables are retained for use
throughout the program in RAM and not
reallocated during program execution ?

(A) Automatic (B) Static

(C©) Dynamic (D) All of these

TR 1 Tq@ Aot o1 § 2
(A) WYY, @A

(B) q=W

(C) FoIe FoR

(D) W |t

What are the
communications ?

major categories of

(A) Speech, writing
(B) Printing
(C) Electronic communication

(D) All of the above
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35. TAH ¥ HT STEHR K HT Fohall © 7 38. I XU TU e w1 [T 7 ¥ AR T8 A
. i ?
(A) 9 Sl R o feperm e @ -
. . . #include<EEPROM.h>
(B) 1 int pin=13;
(C) It Ferd gL =Y void setup() {
$rrcht £ pinMode(pin,OUTPUT);
(D) Serial.begin(9600);
Which of these may convey arrogance ? }
(A) Shoulder shrug void loop() {
(B) Jointed fingertips for(int i=0; i<EEPROM.length(); i++) {
(C) Hands swinging loosely E}EPROM'Wnte(I' b
(D) Pointed finger digitalWrite(pin,HIGH);
exit(0);
36. fr=fafaa & @ =9 fodt =1 @y foy 1o }
T BT SRR Bt F Jebetl §2 (A)  Clear EEPROM
. (B) Fill EEPROM with 1's
(A)  STRISTET (C) Export EEPROM data
(B) r-gfeTeH (D) Fill EEPROM with 0's
frfi What is the objective of the code given below
©) if it is executed on the Arduino Uno ?
(D) CIPRESNE] #include<EEPROM.h>
Which of the following prevents someone mt' pin=13;
from denying the accessed resource ? void setup() {
(A) Accounting plnMode(P1n,OUTPUT);
Serial.begin(9600);
(B) Non-repudiation )
(C) Sniffing void loop() {
(D) Authorization for(int i=0; i<EEPROM.length(); i++) {
EEPROM.write(i, 1);
: }
?
37. 8051 H RAM #HIY o1 TR ferd1 2 & - digitalWrite(pin HIGH);
(A) 32 =™ (B) 64 9™ exit(0);
}
C) 128 93H D) 256 93ZH
© h ) h (A) Clear EEPROM
What is the size of RAM memory in 8051 ? (B) Fill EEPROM with 1's
(A) 32 bytes (B) 64 bytes (C) Export EEPROM data
(C) 128 bytes (D) 256 bytes (D) Fill EEPROM with 0's
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39.

40.

1 9 9 =1 T A THR T © 2

(A) sbit (B) dbit

(C) bit (D) unsigned int
Which of the following is NOT a data type ?
(A) sbit (B) dbit

(C) bit (D) unsigned int

frefafEd sie 1 eT=8ege = B ?
#include <stdio.h>
void solve() {

char ch[5] = "abcde";
int ans = 0;

for(inti = 0; i< 5; i++) {
ans += (ch[i] - 'a');

}

printf("%d", ans);

}

int main() {

solve();

return 0;

}

(A) 5 (B) 20
(C) 40 (D) 10
What will be the output of the following
code ?

#include <stdio.h>

void solve() {

char ch[5] = "abcde";

int ans = (;

for(int i = 0; i< 5; i++) {

ans += (ch[i] - 'a');

}

printf("%d", ans);

}

int main() {

solve();

return 0O;

}

(A) 5 (B) 20
(C) 40 (D) 10

41.

e Sffesiae HER 1 3R 9 W § q Ffaraa
I I TSI AT ?

int op = 6;

int isBarrier = HIGH;

void setup() {

pinMode(op, INPUT);
Serial.begin(9600);

}

void loop() {

isBarrier = digitalRead(op);
if (isBarrier == LOW) {
Serial.printIn("1+");

}

else {

Serial.print("clear+");

}

delay(100);

}

(A) clear+clear+1+1

(B) 1+1+clear+1

(C) 1+1+clear+clear

(D) clear+clear+clear+clear
Predict the output of the following code if the
object is moving towards the sensor.
int op = 6;

int isBarrier = HIGH;

void setup() {

pinMode(op, INPUT);
Serial.begin(9600);

}

void loop() {

isBarrier = digitalRead(op);
if (isBarrier == LOW) {
Serial.println("1+");

}

else {

Serial.print("clear+");

}

delay(100);

}

(A) clear+clear+1+1

(B) 1+1+clear+1

(C) 1+1+clear+clear

(D) clear+clear+clear+clear
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42.

43.

44.

srgel " WS # fordd e 1 s 39
ERISIIE

(A) 12 (B) 16

) 8 (D) 14

How many analog pins are used in Arduino
Mega board ?

(A) 12 (B) 16
<€ 8 (D) 14
GaSe C | HHH ! hdl LT ST § 2
(A) # (B) %
© D) //

How are comments denoted in Embedded
C?

(A) # (B) %
< D) //

YHGeh SAEMH W STRG d91e Jeieq deohieh St
Targm fafsran Scas et © -

VANELWS

EIRERGERIED

(D) =l <1 Heold

The stress management technique based on
mental exercises which to produces the
relaxation response :

(A) Autogenic Technique
(B) Eating
(C
(

) Sleeping
D) Medicine intake

45.

46.

IoT fegarma
Tfom ? 9hd 2|

% forr st ¥ 9T

(D) Fere fawen

IoT devices can easily lead to catastrophe
without

(A) Software
(B) Devices
(C) Cloud

(D) Management system

T8 W T FIU HINA DI & TG S ?

(D) U T

Which of these does not enhance listening
skills ?

(A) Attention
(B) Clear perception

(C) Frankness

(D) Ignoring
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47.

48.

49.

frfafad § 9 &9 T AEshicheior ¥ AR
BT =1fey 2

(A) CPU, ROM, I/O g 3R ergrd

(B) RAM, ROM, IO Ured iR s

(C) CPU, RAM, I/O Tdred 3R 2rzrd

(D) CPU, RAM, ROM I/O UieH iR 2a

Which of the following must be present in a
microcontroller ?

CPU, ROM, I/O ports and timers
B) RAM, ROM, I/O ports and timers
CPU, RAM, I/O ports and timers
CPU, RAM, ROM, I/O ports and timers

TJEe 13|'|'5i (Raspberry Pi) H YR H"Fﬂg e
I S 7 2

(A) Juwsl HARA  (B)
(C) =i (D)
How power supply is done to Raspberry Pi ?

(A) USB connection (B)
(C) Charger (D)

TS Sl
ST

Internal battery
Adapter

eI T3 Y& hd &l foTg fafy i ggam
C

(A) T STEIHA FT I oA T

(B) & SO ST e &

(C) o I Twer H Hied ydia &1 @I
(D) &9 319 I ST ht UG F ©

Identify the polite method of beginning a
business letter.

(A)

We are forced to refuse

(B) We demand to know from you
(C) We find it difficult to believe
(D)

D) We appreciate your prompt reply

50.

51.

MQ-135 T Th YR B

FgHIfed e

(B) & HW

(C) e HHL

(D) THOER HW
MQ-135 is a type of
Humidity sensor
(B) Gas sensor

(C) Light sensor

Temperature sensor

Trefafaa & 9 i o1 ! o o wnfag 92 ®
St I fauifa s © fo e & ook # fafim
fearsq & o= < 8 gEiia foran Sian g 2

(A) T FHIRH
(B) It Sl WidreRiet
(C) o HIIhid
(D) IR drehid

Which of the following is an established set
of rules that determines how data is
transmitted between different device in the
same network ?

Network connection
(B) TCP IP protocol
(C) Network protocol

(D) TCP protocol
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52.

53.

54.

ST 1 R micros() TR 1 Refieae
g2

(A) 7 HIZhIEHE

(B) 4 WIZhIGHE

(C) 6 AEHERS

(D) 2 HIEhIEHE

What is the resolution of the micros() function
on the Arduino Nano ?

(A) 7 Microseconds
(B) 4 Microseconds
(C) 6 Microseconds
(D)

D) 2 Microseconds

g S ot Uik 0 ® T Teq & T =woit

1 Sk W el Tohan T § 91 TR ?
(A) 3Tecreh (B) 9w
(C) e (D) qAacrh

What is the process to check whether
previous stages of reading have been followed

properly ?
(A) Survey (B)
(€) Reading (D)

Question

Review

T, fowen § 99 o & foe 519 w@hig
YA R Gohdl ©, 39 el ST B

(A) 3w THd

(B) feta

(C) Tifaua A% e dieites

(D) T fdm

The scope that hacker can use to break into a
system is called as :

(A) Attack surface

B) Defense

55.

56.

57.

TE ! AN A THI T Heohd 9 TgHaal o
FT 9 HI T F UlHAT I Eadl
SisIE

(A) eRTTH
(B) fewrM
(C) foreefim
(D) ST § § HIE Tl

The process of removing certain band of
frequencies from a signal while permitting
other is called as

(A) Attenuation
(B) Distortion
(C) Filtering
(D)

D) None of the above

I 91 A B tage faey # =ae 9 9
ST TR ST ® 2

(A) EEPROM (B)
(C) wRIw HEIY (D)

Which memory storage is widely used in
Embedded Systems ?

(A) EEPROM (B)
(C) Flash memory (D)

DRAM
SRAM

DRAM
SRAM

Tags @ § Acdaney fewuforl &1 59w
TS ?

(A) ## B) /**/

Q€ %% D) //

How are multiline comments denoted in

Embedded C ?

(
(C) Principle of least privilege (A) ## B /**/
(D) Risk mitigation Q) %% D) //
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58.

59.

IR YT 6T 1 ST & ?
(A) 3TTEdl <l a1 A <k foTg
(B) 3 YrfEn

(C) eifesige o1 a1 @M o faw
(D) GPS

What is the use of the IR Sensor ?
(A) Humidity Detection

(B) Image Processing

(C) Object Detection

(D) GPS

frefafad g =1 eseqe = 8 2
for(; ;)
{

Statements

What is the output of the following
program ?

for(; ;)
{

Statements

}
(A) Error

(B) Statements will run forever
(C) This an infinite loop

(D) Both (B) and (C)

60.

61.

S TH Uk & Hededh W he ST hl STIN
F E @ e H F o g 3 Sl § 2

(C) TR feemm
(D) < @ud

Which of the following challenge arises when
we use many devices on the same
network ?

(A) Signaling
(B) Security
(C) Power Detection

(D) Power Consumption

gl foed & gas s W fhaHl am
setup() THRT =eTd § ?

How many times does the setup() function
run on every startup of the Arduino
System ?

(A) 4 (B) 5

C) 2 (D) 1
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62. IoT +eaHh ST I Th HIT 7 |
(A) Ta=a
(B) W & #efA
(C) IHxS
) EEEED
An IoT network is a collection of
devices.
(A) Signal

B) Machine to machine

) Interconnected
D) Network

63. Al &% u fafere 9 & foag ©
SEIED 3 SHal @ foaw wfera &
Hehel B

(A) FEher, difeq (B) ifew, HE
(C) ifed, Fher (D) HHI, "R

is meant for a specific group of
people while may be aimed for
the general public.

(A) circular, notice (B) notice, memo

(C) notice, circular (D) memo, circular

64. WoT (Ja i i) 1 g& R¥I T
(A) AT AR i fohamsiiara & gur
(B) &N T S
(C) faekma =1 Sifeet oM
(D) T I T

The main objective of WoT (Web of Things)

is_

A) Improve usability and interoperability

B) Reduce the security

©)
)

Complicate the development

o~ o~ o~ o~

Increase the cost

65.

66.

67.

AT TR | hd YR 1 TAH e Bl
€2

(A) ST (B) EwIfT

(C) fafer (D) HAH-faAfeR
Most sensors have what type of transfer
function ?

(A) Zero (B) Infinity

(€) Linear (D) Non-linear

ML H, AU o foT SS9/ TeHTersTie &

EECE ! HEE ¥ U HETE
(A) FErd (B) T
(C) THIM (D) T

In IoT, Transport layer set up connections
without handshakes/acknowledgements
using :

(A) UDP (B) TCP

(©) FIP (D) HTTP

ot Tga ST IS 1 qU FH IR FHEifad

T % IIE BISsh G © | T8 1 e

A) THI-YEEA
B)  3ATcH-SIT&hT

C) P
D) STH-UH
Mr. Rahul is seeking feedback after

completing and implementing his project.
This act represents :

(A) Time-Management
(B) Self-Awareness

(C) Gratitude
(

)
D) Self-Love
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68.

69.

HUTEER ! Tk o foIT ASeR & gY, 2T
TSl ThUEeR I WIER f_el & o Th
T T ol L Ghd & 2

(A) #warning (B) #stop

(C) #cut (D) #error

How can you throw an error with
preprocessor directives to Arduino Compiler,
forcing to stop compilation ?

(A) #warning (B)  #stop

(C) #cut (D) #error

afg 1 1 31ef § fop Topelt aifesiae =T Wl o
T % 31 0 1 27l © o forelt atfostere st e =&l
Tl T, O SE hT R WA g, g i defad
T 1 & Wehelt © AT HEGR 3722 b1 111000
FEY H @1 A€ E 2

(A) efeorae feer ®

(B) i STTa-aiTal feet @I §

(C) MR TR

(D) 3ffeare Toreleh 31 @l §

If 1 means an object is detected and 0 meaning
no object is detected, then considering the
sensor stationary, what can be the possible
movement of object if the output by the sensor
is observed as 111000 ?

(A) Object is stationary

(B) Object is oscillating side by side

70.

71.

U] S THY AT i GIHIUT ok 3TheAT hi ik
el ETIRSICIS

(A) TR e
(B) HaR FoUI
(C) AT Fa
(D) =R g

The process of assessment of the speaker’s
content while listening is called

(A) Critical listening
(B) Dialogic listening
(C) Comprehensive listening

(D) Systematic listening

8051 ¥ fohw foe wrest =1 WMt fohen e © 2
(A) 4-fae (B) 8-fae
(C) 16-fee (D) 32-fere

What is the bit size used in 8051 ?

(C) Object is moving away (A)  4-bit (B) 8-bit
(D) Object is moving closer (C) 16-bit (D) 32-bit
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72.

frefafea TSl shie o1 TRumT =1 ¢ ?
void setup() {

Serial.begin(9600);

}

void setup() {

Serial.write(20);

(A) Send a signal to pin 20 on the Arduino
board

(B) Send a octal number of 20 through the
Serial pins

(C) Send a byte with value 20 through the
Serial pins

(D) Send a hexadecimal number of 20
through the Serial pins

What is the outcome of the following
Arduino code ?

void setup() {
Serial.begin(9600);
}

void setup() {

Serial.write(20);

(A) Send a signal to pin 20 on the Arduino
board

(B) Send a octal number of 20 through the
Serial pins

(C) Send a byte with value 20 through the
Serial pins

(D) Send a hexadecimal number of 20
through the Serial pins

73.

74.

75.

TS R ?

(A)  GITET wre

(B) il ufefi WA

(C) - TR RiehH
(D) <2 TfeR

What is Arduino ?

(A) Programming language

B) Image editing software

Open-source electronics platform

Text editor

ToT WRFESH & faT i & ewol Fase ga
T T?

(A) AWS (B) ST Fiew
(C) TRHMEE THERX (D) A gRd

Which one is not Leading Cloud Services for
IoT Deployments ?

(A) AWS (B)
(C) Microsoft Azure (D)

IBM Watson
Google Drive

TSl HIS i WAl Froare wfshan = & 2
(A) HIEEE> Tfeat-> HUBeR
(B) Tfeet-> WUHER-> HUEeR
(C) huEeR-> FIHH-> Tfek
(D) TfeSR-> HUEM-> FHHR

What is the correct execution process of an
Arduino code ?

(A) Preprocessor->Editor->Compiler
(B) Editor->Preprocessor->Compiler
(C) Compiler->Preprocessor->Editor
(

C
D) Editor->Compiler->Preprocessor
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76.

77.

78.

I T Teh helel TR Tel § ?
(A) While (B) If.else
(C) #detine (D) Case

Which one is not a control structure ?
(A) While (B) If.else

(C) #detine (D) Case

ToT 3R FASE e | fohdt T 1 Haly § 2

IoT and cloud computing has what kind of
relationship ?

A) Physical
B

~—"

(

( Complementary
(C) Graphical
(

D) Coding

=Y ¥ FH 91 92 Hiefe et 78 8 ?
(A) NANO (B) STRIDE
(C) OCTAVE (D) PASTA

Which one of these is not threat modelling
methodology ?
(A) NANO (B) STRIDE

(C) OCTAVE (D) PASTA

79.

IS ifesae R G S @I & a1 Fefared wre

T YL AT ?

intop =7;

int isBarrier = HIGH;
void setup() {
pinMode(op, INPUT);
Serial.begin(9600);

}

void loop() {

isBarrier = digitalRead(op);
if (isBarrier == LOW) {
Serial.println("1+");

else {
Serial.print("clear+");

}
delay(100);

A) clear+clear+1+1
B) 1+1+clear+clear
C) clear+clear+clear+clear
D) 1+1+clear+1
Predict the output of the following code if the
object is moving away from the sensor :
intop =7;
int isBarrier = HIGH;
void setup() {
pinMode(op, INPUT);
Serial.begin(9600);
}
void loop() {
isBarrier = digitalRead(op);
if (isBarrier == LOW) {
Serial.println("1+");

}
else {
Serial.print("clear+");

}
delay(100);

o~ o~ Nt

>

) clear+clear+1+1
1+1+clear+clear
clear+clear+clear+clear
1+1+clear+1

B

o~~~ N——
~

~ —

C
D
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80.

81.

analogWrite() TeRTH foh& TeRI 1 3T1SeYL <M ?
(A) TH hIS Higgeles fama
(B) Treradl Hisrice famet

(C) ueH fasy Aicyeies fama

(D) YeH Ufciede Aieyeics faa

What type of signal does the analogWrite()
function output ?

(A) Pulse Code Modulated Signal
(B) Frequency Modulated Signal
(C) Pulse Width Modulated Signal

(D) Pulse Amplitude Modulated Signal

T 1 gaFR § IR gaiae 9 Sifeea |
oM & fou f=fafed § 9 9 9 Syhw

fo9 w9 4 39 fRuy ST ®@ €2
(A) TTEshIshele (B) rHH
(C) e (D) WAored

Which of the following devices are
specifically being used for converting serial
to parallel and from parallel to serial
respectively ?

(A) microcontroller (B) timers

(C) counters (D) registers

83.

(A) 32 (B) 64

C) 8 (D) 16

The Atmega 168 is an bit chip.
(A) 32 (B) 64

©) 8 (D) 16

A H T ST T 1 7N ST 7 ?

(A) ST Y ge-379 FW & fau

(B) T e ¥ wfeRte w1 & fog

(C) TR ol 3ATHE i & fog
(D) 3Tfeh HEIT oM

What is the use of the Interrupt Service
Routine in an Arduino ?

(A) To boot up the Arduino
(B) To exit any code that is running
(C) To automate functions

(D) To make more memory
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84.

85.

OxFE & 919 R & Y3 TR =T skl -1 9T

€2

(A) R & T Hoiaee foe e &l
(B) R & Heraes foe &l foerer e
(C) R Goiaee foe o1 wifterde e
(D) 78 9 FIE &

What is the effect of performing AND
operation of R with OxFE ?

(A) Setting a selected bit of R
(B
(
(

~—

Clearing a selected bit of R
C) Complement selected bit of R
D) None of these

TEEE C YIHT § HheRE HUrEEt Seifees

FME?

(A) HUTEER I Far foh Jrom # Hiog fHeed
1 el Gl

(B) UM I HuEd T & fTq Huger &
[RENES

(C) fewra aftusaed

(D) fewrEd herd

What are the functions preprocessor directive
in Embedded C programming ?

(A) Tell compiler where to find symbols that
are not present in program

(B) Give compiler instructions to compile
the program

(C) Define variables

(D) Define functions

86.

87.

T 3758 TEaehdl iR HaRS &
EZSIRCIIF

ol =t 3T= SThHYT 1 UIe
(B) &HF I 3ferd geiEd

(C) iehrel @l famo

(D) |

A good presenter and communicator
should :

(A) Follow good sequencing of ideas
(B) Manage time properly
(C) Clear doubts

(D) All of these

freafafad § 9 F 9 TeIee 9t 9 sl gidet
7?2

() T dRe
(B) o9 UfeTehyrd o fete 3w feran iram ©

(C) Eifd FTeHT & W YA e S §
(D) Hfea Sarerez & fere v

Which of the following is the property of
embedded C language ?

(A) Hardware independent
(B) Used for web applications

(C) Used with limited resources

(D) Used for native development
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88.

89.

TS AR TSARH HT ITAN HTh,
& HEH ¥ SRR YT i S

STafeh SAfFa S aratardl &1 ITANT Hieh

% HIEAH § SRR T ht S |
EIEMNISED
(B) 1 rq, Toreren
(C) Toreren, wmeft forameft
SR H 9 HIE T

Using lecturers and handouts, information is
acquired via whereas by using
tutorials and conversations, information is
acquired through

Students, tutors
(B) Other sources, tutors
(C) Tutors, fellow learners

None of the above

SifereRds 9o I DC HieX Shi S&rdl 91 8 2

(A) 90% (B) 100%

(C) <HT 80% (D) 50%9 %A

What is the efficiency of the DC motor at
maximum power ?

90.

91.

e fefafad § 9 feg als ¥ SHeR 99

L Gehd © ?

Functions can pass information in which of
the following ways ?

(A) Value
(B) Reference
(C) Stack

(D) Both (A) and (B)

S IS F FHTAM & ?

(A) st (B) TEH

e

<

(C) fei= (D)

What are Arduino Codes are referred to ?

(A) 90% (B) 100% (A) sketches (B) drawings
(C) Around 80% (D) Less than 50% (C) links (D) notes
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92.

93.

94.

TR kT 323 ATl =1 wH=El &1

T H HEE HEN R |
(A) =TT
(B) Wfw
(
(

C) YHSMI

D) STRTd AT

The purpose of communication is to help
officials to the employees.

(A) Eliminate

B) Motivate

(

(C) Threaten

(D) Apprise

TS AL fohm IO TR ST T § 2

(A) Java (B) HTML

(C) C/C++ (D) Python

What language is the Arduino IDE built on ?
(A) Java (B) HTML

(C) C/C++ (D) Python
JroigeR Tl START H gY, FH IW

T Tt 1 STANT Hleh 1 &I
! Yehe Toma ST Hehdl B

(A) RS, wIES
(B) ¥, URER
(C) g, g =
(D)  3TURERf, SR

While presenting wusing projectors,
information line can be revealed by using an
sheet to over the

>

) Transparent, slide
B) Translucent, transparency

C) Opaque, flip chart
)

o~ o~ o~ o~

Opaque, transparency

95.

96.

TUEY T2 & Tk T hl AR HH g |

TR foran s & 5@ ETIASIGIRS
(A) foae (B) ¥FR
© W (D) I

A set of homogenous data stored in
consecutive memory locations is called :

(A) List (B) Structure

(C) Array (D) Union

St 7w H A ! e @ & o fag fhe
T =1 9 foman ST & 2

(A) FW T Fagw
(B) o o fagia
(C) TRifHT =1 i &1 FaH
(D) wRIfHT 1 aHEw |

Which rule is used to decide the direction of
rotation of DC motor ?

(A) Coulomb’s Law
(B) Lenz's Law
(C) Fleming's Right-hand Rule

(D) Fleming's Left-hand Rule
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97. Trmfafed & & o sl & fasm ?q Tedrm | 99. weIee fawen # ek Wit & fou fr=fafea #
T H HEE T B ? T & o fafy s E?
(A) Trfsera wrfen (A) A TARH
(B) hiehal smFfe (B) RMS
(C) whrafes AeLleIfeh
(C) FHf
’ (D) WI-Twfed
(D) TRASS Hrfen
Which of the following method is better for
Which of the following helps to collaborate task swapping in the embedded systems ?
in IoT development ?
(A) time slice
(A) physical computing (B) RMS
(B) chemical computing (C) cooperative multitasking
(C) mechanism (D) pre-emptive
(D) cloud computing
100. R 1 ITFMT SAHIR R o
&I 4 % fore foran S €1
98. A H W e feamsy = arfas 3R
) (A) TlEo (B) wHtam
(C) ST=mT (D) 3|t
(A) HIEEA HH (B) IAteite
Reports are usually utilized to present the
(C) R T (D) TR Hi= outcome of :
A) E i t B) Inqui
What is the real example of a smart grid (4)  Experimen (B)  Inquiry
o >
device in loT (C) Investigation (D) All of these
(A) Mobile phone (B) Television
(C) Smart Speaker (D) Smart Meters -00o0-
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